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‘From the’ ¢ s8€c.” cor. ™ ¢

Fall 39 1ks. W. of ¢he cor. of secs. 7, 12,713, and 18,

‘Fall 1.71 cks. E. of the 1 sec. cor., hereinafter

| NOI‘th, along' E. bdyc Of SeC-. 1(, Ta' 1 No', Ru 33 E.

DEPENDENT RESURVEY. WEST BOUNDARY OF T. 1 N., R. 34 E.

From the ¢ sec. cor, : Lo | :

North, along E.' bdy. sec. 24,T. 1 N., R. 33 E.

Find no trace of the' cor. of secs. 13,14, 19, and 24

North, on same line, with continuous measurement along
BAvdyS eee P, T4 WaERE 55 B

Intersect the % sec. cor., hereinafter described

The bearing of th}s mile therefore is Nor;h, énd the
distance is 79.12 chs.

1

North, along E. bdy. secs13,”T. 1 W.,”R:V'35 E.

"hereinafter described - >

The bearing of this half mile therefore is N. 0° 33' E.,
-
and the distance is 40.04 chs.

=

From the cor. of secs. 7, ;2,'13, and 18

North, along E. bdy. of sec. 12, T. 1 N., R. 33 E.

Fall 2 lks. E.iof.the & sec. cor., hereinafter described

The bearing of this‘half mile therefore is N, 0O° 62‘ W.,
and the distance is 39:17-chs.

From the & sec.- cor.:

North, along E. bdy. of sec, 12, T. 1 N., R. 34 E.

Find no trace of the cor. of secs. 1, 6, 7, and 12

North, on same line,  with continuous measurement along E;

bdy.c 6f sec.s 1" T.~4 N ;Z H %5 R

described - L «3 gy Rt 7
The bearing of this mile therefore is N. 1° 13t W., -
and the distance €0.54% chs.

From the % sec. cor. : (




